
MeFb`MN d\`PFPb]\Ob]Z_Fb`MM\`PM` fDQXRPFM\RS O`TFSM\Ob]`P

HFM`S T\M d\X_` E`YFSSM`P cSM`PFYM\RSOYRSg`QM`

JSRNR;; `VR@M G4:V= -:3=O

_=86R636 U1: DR83$NR8RV:3=T 3=W R=6V:$O6R2V Gi86V@V ?D_GC

E=R2V:8R6j6 G6366T$:6

E=R2V:8R6j6886:& 0(

AL>Xe G6366T$:6

;SRNR;;&SVR@/2R8&3=RQ86366T$:6&WV

8<V:V=#:3=O/"V#&WV

JEOMPFbMN _@ GV@$=6RY BV# TV8;VRYSV:6V _=U<:@$6R<=V= "V:WV= $3YS U1: WV=

W3:YS8YS=R66NRYSV= BV#QZ36hV: R@@V: R=6V:V88$=6V:& .3U a:3=W WV: O<@;NRhRV:6V=

-VWRV=3=T #V86VSV=WV: .="V=W3=TV= 86VNN6 WV: O<=O:V6V *3T:RUU W$:$3U $NNV:WR=T8

=<YS VR= J:<#NV@ W$:& _= WRV8V@ -VR6:$T 86VNNV= "R: W$SV: 6b$YV6 2<:M VR=

BV:OhV3TM W$8 #VO$==6V _=6V:$O6R<=8O<=hV;6V =36h6M 3@ SRV:$:YSR8YSQU$YV66RV:6V

c!;N<:$6R<= $3YS U1: 3=V:U$S:V=V Z36hV: h3 V:@4TNRYSV=& *RVN R86 V8M WRV

b<:@3NRV:3=T 2<= 8V@$=6R8YS VR=WV36RTV= .=U:$TV= h3 V:NVRYS6V:= 3=W 8< WV=

8YS=VNNV= 3=W TVhRVN6V= _=U<:@$6R<=8h3T:RUU $3YS R= WV: -:VR6V h3 3=6V:8616hV=&

G f\SX`\MLS^

_@@V: @VS: _=U<:@$6R<=V= 8R=W R= b<:@ 2<= 8V@$=6R8YSV= ,$6V= 2V:U1T#$:9 h&-&

3@U$886 WRV &/!+/!5 6:9! #)3) 2&6#' =*<.; )\<W%L' #V:VR68 @VS: $N8 5LL

3=6V:8YSRVWNRYSV 8V@$=6R8YSV ,$6V=8j6hV ?G6$=W ^3=R 5L%%C& ,V= ;<;3Nj:86V= ,$6V=8$6h

R==V:S$N# WV: \K, YN<3W 86VNN6 W$#VR WV: #$:9;/)Q,$6V=8$6h ).3VL(' W$:& ,RV8V:

2V:83YS6 86:3O63:RV:6V _=U<:@$6R<=V= $38 (/+/:9;/)Q.:6ROVN= h3 V!6:$SRV:V= 3=W $N8

8V@$=6R8YSV ,$6V= 1#V: WRV O1=86NRYSV .=U:$TV8;:$YSV ,4%-0& )G;$L(' 4UUV=6NRYS
h3T:VRU#$: h3 @$YSV=& ,3:YS WRV DV:"V=W3=T 2<= GJ.HI\ 8R=W WRV .=U:$TV=

8V@$=6R8YS VR=WV36RT& _@ DV:TNVRYS h3: <U6@$N8 @VS:WV36RTV= FV!683YSV N$88V= 8RYS

W$@R6 $3YS O<@;NRhRV:6V:V .=U:$TV= ;:jhR8V U<:@3NRV:V= 3=W V:@4TNRYSV= 8< VR=V=

TVhRVN6V= 3=W 8YS=VNNV= *3T:RUU $3U _=U<:@$6R<=V=&

E@ PVW<YS $3U ,$6V= @R6 `RNUV 2<= GJ.HI\Q.=U:$TV= h3T:VRUV= h3 O4==V=M @388 WRV

.=U:$TV8;:$YSV V:86 2<@ Z36hV: V:NV:=6 "<:WV= 8VR=& GJ.HI\ VRT=V6 8RYS W$SV: VSV:

U1: c!;V:6V=& ,RV T:<dV [VS:SVR6 WV: Z36hV: #V=46RT6 VR=V -V=36h3=T88YS=R6686VNNVM WRV

W$8 c:86VNNV= 2<= 8V@$=6R8YS VR=WV36RTV= 3=W O<@;NV!V= .=U:$TV= $3YS <S=V

h38j6hNRYSV ]V==6=R88V V:N$3#6& cR= 2V:#:VR6V6V: .=8$6h SRV:U1: #V:3S6 $3U WV@ ]<=hV;6

WV: 8)=933/9739! 1":*<7)3/<! )+VVL0'M #VR WV@ WV: Z36hV: R@@V: $NNV =<YS 2V:#NVR#V=WV=

K;6R<=V= h3: c:86VNN3=T VR=V: G3YS$=U:$TV $=TVhVRT6 #VO<@@6 3=W WRV8V =3: =<YS

$38"jSNV= @388M 3@ 8RV 8VR=V: .=U:$TV SR=h3h3U1TV=&

260


